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Chapter 7, Solution 7. 
 

When the switch is at position A, the circuit reaches steady state.  By voltage 
division, 
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When the switch is at position B, the circuit reaches steady state.  By voltage 
division, 
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Chapter 7, Solution 11. 
 
For  t<0, we have the circuit shown below.  
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3//4= 4x3/7=1.7143 

1.7143(0 ) (8) 1.4118
1.7143 8oi

− = =
+

A 

For t >0, we have a source-free RL circuit. 
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Chapter 7, Solution 42.  
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(b) For this case, 0)(vo =∞  so that 
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Chapter 7, Solution 59.  
 

Let I be the current through the inductor. 
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